KiRhR MRIZELOBORRE (1~ 3AHA)

ERER [2FE]

1. 58 £ & #s=Erst AERTHAL
=
T L5 @ 21.1%
36.8% 329% 434
L0
L 35.5%
30.3%
2. TAME ws=Em ALERTHAL
T 8.0% T 8.0%
ﬁﬁy R
= 267% g5 a%
72.0%
3. BBIRMH  wismmit RERHA
= BRIt = BRIt
12.29% 10.8% 10.8% 6.8%
IO FEIEON
77.0% 82.4%
4. BEED w=Rsk AERTHALL
I=%(4 Rit
=i E(4
o7 0% 122%  op79, 98%
HEIEN EIEO
60.8% 68.0%

S#%3HA

=
27.6% 32.9%

0N
39.5%

S#%3HA
TR& 8.0%

I bz
28.0% 64.0%

538
=y BIL
1ot B.4%

i 1240
82.4%

S% 318
= BRI
20.2% 12:2%

HRIEO
67.6%

5.

6.

7.

8

EEEH  w=rm

gy B0
195% 123%

IO
68.5%

HIEFEIAALL

B
5.4% 1
0,
sz S

56.8%

F BTERIAL
#m
B 19.7%
40.8%
FEIEN
39.5%

. B D B (KD

7L (3 BP 182%
A (Rff) £EF  17.9%
AFARRE 14.6%
& GZH) #Bm 8.7%
AMBR (#B) 5.4%

ARFRIHALE

> B
14%0//0 6.8%

B
78.4%

NEHTHLL

=)
Ao,
1% 27.0%

IO
68.9%

ANEHTHLE

i
g 12.0%
41.3%
L (=(N
46.7%

[EEEDOEML
B BN
LA DRBR A
BB OIER
FERET

S#%3HA

s
12.3% 13.7%

RO
74.0%

S%3HA

b
4.0%

0,
g 392%
56.8%

S#%3HA

&0

B 537%

32.9%

B
43.4%

3.4%
3.4%
2.9%
2.9%
2.5%

Omi MR 78 1 (ZH) WA - A (B 15 - AFRRDPOED B2 o, MHZ ofidsd bo L libh g,
bd DTSN TEA FRIERO 720120 485k M HEGS 5 TEORE £ 3 — GEIEA O E) 5

O 15Ul 513 42 D553
IS v,

SIEHERECCHNZBBLVELET,




